
In[6]:= sol1 = DSolve@y''@xD + 5 ∗ y'@xD − 6 y@xD == 0, y, xD

Out[6]= 99y → FunctionA8x<, Æ−6 x C@1D + Æx C@2DE==

In[7]:= Solve@m^2 + 5 m − 6 m 0, mD

Out[7]= 88m → −6<, 8m → 1<<

In[8]:= sol2 = DSolve@y''@xD − 6 y'@xD + 9 y@xD m 0, y, xD

Out[8]= 99y → FunctionA8x<, Æ3 x C@1D + Æ3 x x C@2DE==

In[9]:= sol3 = DSolve@y''@xD − y'@xD + y@xD m 0, y, xD

Out[9]= ::y → FunctionB8x<, Æxê2 C@1D CosB
3 x

2
F + Æxê2 C@2D SinB

3 x

2
FF>>

In[16]:= sol4 = DSolve@y''@xD − y'@xD + y@xD m x, y, xD

Out[16]= ::y → FunctionB8x<, 1 + x + Æxê2 C@1D CosB
3 x

2
F + Æxê2 C@2D SinB

3 x

2
FF>>

In[18]:= FullSimplify@sol4D

Out[18]= ::y → FunctionB8x<, 1 + x + Æxê2 C@1D CosB
3 x

2
F + Æxê2 C@2D SinB

3 x

2
FF>>

In[21]:= sol5 = DSolve@y''@xD + y@xD == 0, y, xD

Out[21]= 88y → Function@8x<, C@1D Cos@xD + C@2D Sin@xDD<<


